Vorgaben
Frequenz
Induktivitat
Kapazitat
Eingangsspannung
Losung
Impedanzen
Summe

Aufgabe 1

Spannungsteiler

Ausgangsspannung

komplex
Betrag

Betragsbildung aus Re und Im

Phase

Phase aus Re und Im

Aufgabe 2

komplex

Betrag

Phase

f=50-Hz wi=2emef
L:=100 mH
C:=30 uF

U=10V

Z1=220.Q Z2::1i‘w‘L Z3::'—
liew-C

des::Zl+Z2+ZS
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U
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Uso=(13.256 —3.551) V

Uc|=13.723 V

Uppi= \/Re (UC)2 +Im (UC)2 =13.723 V
arg (Ug) =—14.991 deg

atan (M) =-14.991 deg

Re (Ug)

Upi=Z,+1,,,=(0.669+2.499i) V
[Ug|=2.587 V

arg (UR> =75.009 deg



